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FEBRUARY 2010 (SAUDI CHAPTER)

MATHEMATICS

CLASS: IX " SETI Max. Marks : 80
Duration : 3 Hours

General Instructions:
1. All questions are compulsory
2. The question paper consists of 34 questions divided into 4 sections, section A, B, C and D
3. Section A contains 12 multiple choice type questions, first 8 of which carries 1 mark each
and the next 4 carries two marks each. Section B contains 7 questions of 2 marks each,
. section C contains 10 questions of 3 marks each and section D contains 5 questions of 4

marks each.

4. Use of calculator is not permitted.

SECTION-A

(Question numbers 1 to 8 are of 1 mark each and from 9 to 12 are of 2 marks each. Each
question is provided with 4 choices out of which only one is correct. Choose the correct one.)

Q 1. The decimal expansion of a rational number is

(a) terminating (b) non-terminating but repeating
(c) non-terminating and non-repeating (d) none of the above

Q2. The coefficient of x 2 in x [6x-1] is

(a) 1 3 2
@ (b) 23
(c) 3/6
(2
Q3. Each of the equal angles of an isosceles triangle is 70°. The third angle of the triangle is
(a) 50° (b) 90°
(c) 40° (d) 60°

Q4. Ratio of the volumes of a right circular cone and the right circular cylinder with same
radius of the base and same height is
(a) 1:3 (b) 3:1
(c) 2:3 (d)1:2
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(a) highest frequency
(¢) cumulative frequency

(b) central frequency
(d) lowest frequency

Q6. Angle in a semicircle is

(a) acute angle (b) obtuse angle
(c) right angle (d) reflex angle

Q7. (11)*XA1)%is

(a) 121 (b) 22?
(c)22° (d) 11
Q8. ABCD is a parallelogram with £ ABC=80°. The measure of £ BCD is
(a) 90° (b) 60°
(c) 80° (d) 100°
Q9. Thevalue of kif (x-1) is a factor of 3x* +kx-6 is
(a) =3 ) 2
() 3 (d) -2

Q 10. In the given parallelogram ABCD, AB=10cm. The altitudes corresponding to sides AB and

AD are 7cm and 8cm respectively. The length AD is D
(a) 8.25cm (b) 8.75cm
(¢) 8.10cm (d) 8cm N
A M
Q 11. In the figure, if PQ||ST, ZPQR=110° and £ RST=130°, £ QRS is
(a) 50° (b) 60°
(c) 130° (d) 110°

Q 12. ABCD and BCEF are parallelograms such that AE || BC. If area of the A ADC= 40 cm?,

then the area of the parallelogram BCEF is
(a) 40cm? (b) 80cm? F
(¢) 20cm?* (d) 60cm*

D

C
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Question number 13 to 19 carry 2 marks each.
Q 13. Evaluate 95X 96 without multiplying directly.

Q 14. Rationalize the denominator of 1
(B+2\2)

Q15. Cis a point on the minor arc AB of the circle, with center O. Given ZACB=x° and
ZAOB=y®, express y in terms of x. Calculate x, if ACBO is a parallelogram.

Q 16. The curved surface area of a cylinder is 4620cm? Find its radius if height is 35cm.

Q17. Find the median of the following data :
25, 34, 31,23, 22, 26, 35, 28, 20, 32.

Q18. The mean of 16 numbers is 8. If 2 is added to every number, what will be the new mean?
Q19. Infigure, if PQ L PS, PQ || SR, £ SQR =28° and £ QRT = 65°, then find the values

of x and y.
P Q

Y 65°

SECTION-C
Question number 20 to 29 carry 3 marks each.

Q20. In figure, E is any point on median AD of a AABC. Show that ar(AABE) = ar(AACE).
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. Represent V9.3 on the number line.

. A conical tent is 10m high and the radius of its base is 24m. Find
(i) slant height of the tent

(iii) cost of the canvas required to make the tent, if the cost of 1 m? canvas is Rs.70.

. AB is a line segment and P is its mid-point. D and E are points on the same side of AB
such that Z BAD = Z ABE and £ EPA = Z DPB. Show that

(i)  ADAP=AEBP D
(i) AD=BE

A P

The floor of a rectangular hall has a perimeter 250m. If the cost of painting the
four walls at the rate of Rs10 per m* is Rs 15000, find the height of the hall. .

. 20 girls of the same age were examined to read their pulse rate. The following figures
were obtained while reading the number of beats per minute. Taking 50-60 (60 not
included) as one of the class intervals, construct a frequency table with class intervals of

equal length.
61, 56, 72, 65, 70, 59, 68, 82, 80, 66, 52, 59, 73, 78, 66, 61, 51, 59, 84, 68.

. ABC is an isosceles triangle in which AB=AC. AD bisects exterior angle 2 PAC and
CD|AB. Show that (i) Z DAC = £ BCA and (ii) ABCD is a parallelogram.

P

Q28. In figure ABCD is a trapezium in which side AB is parallel to side DC and E is the
midpoint of side AD. If F is a point on the side BC such that the segment EF is parallel to

side DC. Prove that EF= %2(AB+DC) A B
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SECTION-D

Question number 30 to 34 carry 4 marks each.

Show that (x-2) is a factor of the polynomial f(x)= 2x3-3x?-17x+30 and hence factorize f(x).
The inner diameter of a cylindrical wooden pipe is 24cm and its outer diameter is 28cm.
The length of the pipe is 35cm. Find the mass of the pipe, if 1 cm® of wood has a mass of
0.6g.

. Prove that the angle subtended by an arc at the center is double the angle subtended by it
at any point on the remaining part of the circle.

. Draw a histogram and a frequency polygon of the following:

Class 100-150 | 150-200 | 200-250 | 250-300 | 300-350 | 350-400 | 400-450 | 450-500
interval
Frequeny 25 40 33 28 30 22 16 8

Q 34. If two equal chords of a circle intersect within the circle, prove that the segments of one
chord are equal to corresponding segments of the other chord.
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